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18.7.3 %

3 ~401-110

2 ~401-112

2 hy /L, = 2.0 0 w, 3T 5V
15
ng>6 w, = 1.3+%= 1.8<1.38

Tl b2 V3B R R 2
W2 AE S AT F w0, F AT T Y

ng 15
Wy = 1.2+%= 1.2+%= 1.5<1.6

ne e Tl %m0 2 Rk B 3 R
0.0028h,, s » Flp 2 BB+ it 5% @, P15 x
kU B B e 2
R B TP W, T O g B e
BB TSI B IR R 2
1) % 65% F] sty % 0.65 o

N, = 0.65

wyg=1+ (1.5 —1) x 1, = 1.325

W, % 18.7.3.2 » th = 5.04 5 F)p o N

w

1
w,= 0.8 4+ 0.0288 * (h,)3

2El N =2L 5 .

1
w,= 0.8+ 0.0288 * 50403 = 1.294
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LB hhd 4583t - §44E 5 21832 tf-m
w & o L My, %%038206tf-m o 4r
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: B v R

3 %401-110
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145 4 47 #7182 2 17, 5 1480.15 tf > F]pt K35
75
I, = 1.75 % 1.325 = 1480.15
= 3432.1 tf
187440 % > Aok - e 4 2 BE

T4 EA

2.12 * (\/Z) X Ay
Flpt 4B B ZE 5 81 cm
¢V,=0.85 * 4063.6 =3454.1 tf >3432.1 tf OK!
DCR=0.99

U A AT 4 B 12 Vs 5 5.28tF 0 Ypgp B
1474.86 tf » Flpb %3+ 4 VodoT N3 E
I, = 1.5 % 1.294 % 1474.86 + 5.28
= 2868 tf
193518.7.440 % > A A -

TAREREAN

2.12 * (\/E) X A,y
FIPb A B 2R 5 80 cm
¢V, =0.75 * 4013.5 =3010 tf >2868 tf OK!
DCR=0.95

Rl 4 2 B
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8y /hyes* #-]-220.005 > @ # ghiEAEC > L FH F phd 54702t > R4
46 5 32913 tf-mpr > B A E ¢ BaERCE 110 Ccm > A7 ik RRCAR

—
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5040 5040 2 600c ~ 600110~ 20152

Fv % R18.7.6.2F fe & i K HE 1

56



B H-E R

FRPE187.6.2@) R LB F A M > BT H L

c FAREREH I oA S RATRN e T L E W - Sppdt o H
BRI, 8B M /(A) 2~ '

—

ME TG NH - 5 HP hISET L 124 cm

20 * 100 + 80 * 350 + 400 = 80
b = 200 =124
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fcu= u+ uw>0-2fc’

21,

Rl 3F & bl 0 Ay s 12.4m? > 1, 5 156.01 m* 7]

4583 21826.5 * 10 kgf kef

= = 112.54— > 0.2f. = 98—
feu 11.78 T 2 * 148.2 cm? fe cm?
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T - R e

d ETABSA 458 % 7 10 i 4v i WAk 2 fo, (ot 4) » F
FrEas TRE)N T FREEM EHET B) ) Xk

feu fe feulfe

7 PR 14.15 280 0.05
R3F 22.12 280 0.08
R2F 24.35 350 0.07
R1F 33.06 350 0.09
15F 34.13 350 0.10
. o igE 44.90 350 0.13
kBT S R ST E R 12F 53.62 420 0.13
JES/NiR 0.15 f) Z IR &S 1k 11F 58.73 420 0.14
10F 66.57 490 0.14
oF 75.84 490 0.15
8F 86.38 490 0.18
—————— 7k 97.43 490 0.20
gE 107.03 560 0.19
. 118.04 560 0.21
el T2 a ;‘E 131.62 560 0.24
T 2 BRI 2F 152.02 560 0.27
1F 138.00 560 0.25
B1F 114.48 490 0.23

B2F
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cmz (2/3)bz #& -] B o
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FE18.7.6.4(F) Yo i B4 T

(i) b = 124 > /(1,,c) /40 = 52.44 >

e 8,/ hyes = 0.0166 > 0.012 (# # £ (i)

(i)b, =80cm > EHF £ R WK AR E260cm = b, »
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18.7.6.4 2 A401-112% 78 R 11 & 3% Jm

194518.7.6.4(f) » T X ¥ B4 T

()b =177.1=+/(,c)/40 = 17.99
e 8y/hyes = 0.0166 = 0.012 (# # & (i)

410 cm

(i) b, =80cm » FH £ & # B E R % 410cm > b, -
¥ B Rtr280cm = b, /2 -

B B LSl T a2
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194518.7.6.4(F) 0 f Xo b B4 T
(i) b = 80 = \/(1,,c)/40 = 28.98

e 8,/ hyes = 0.0166 = 0.012 (# # & (i)
(i) &« ¥ FHx (3 # & (i)
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DARARRF £ e siAp 3 £ fploem -
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PBETABS A 17363+ S % B @ T 4 3 R4 o 2BRCAF18.7.33 shs ¢ 4

BRAGVRTIE s Qw, 5100 F MG 3 Z 2L,

L e v,
1.2DL+0.5LL+0.3EQV+1.0X % & it ¥+ & 4 125.81 tf
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AT HRRCAFL8.7.7.1K3+ > #F 4 @R 518338 1 $ 18358 2 R 23K3
% EETABS 2. & 47 %% % JE (8 M, 4~

B 4 52 EHPLEs M,
L 1.2DL+0.5LL+0.3EQV+1.0X + # fit ¥ & # 121 tf-m
R 0.9DL-0.3EQV+1.0X % #- fis ¥ 7 4 144 tf-m
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W5 g REPE4oT o 0+ k2 R 535cm?2s fe B 5410 0 T & 2 5 42em? > fie % 6-#10
TREN PRy ER L

" 4+ 100
Agmax = Min (CT 0.025) bd = 202cm?
y

Ae B 5-#10- ) *vh A 4w s £ 2 F U B AR UE] 0 AR P E > BT K $16-#10
R AR I
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Evipi-T4 iy

CF AT W ® 4 5 4R
AVp R TP E S PERLE SRS 2 g

F gV, 5 187.37 tf
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R ATS R T

1I9RRCA 18352 &2 a4 Hd LKis wish ¥ £ 28 RiF2 £ F

2h = 200 cm
g(a)b'?(b)l'b}?/'lfﬁ*h”—/\E'J“‘)PJ‘L‘% )’%]"*‘I‘ _,1:1‘:1

RiEE RFERIP £ 51835 LHRGIEH RTIIRZ T

2oL 5 2B e

1
V= 17447t > -V, = 93.7 tf

(b) & ¥ Bz Fllict P4 Py 0LE s 2 g e
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B -1 4 BRE

FEETABS A 45 5 % » P,=22.5tf F]p

P, =225t <

Agf!

= 224 tf

w4 RCAR$18.35.2 0 A K HIV=0 > & KT 4 5183.71tf > Flut ¥ @ awd 4 5

% 1L 5

S

, 183.71
= = 24495 tf

®  0.75
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19RETABS A 478 % » 2 E#»rF 2 %4 8 3

A, f.d 24495 A cm?
V, = vly = =2 =064 —
S 4200 %91 S cm

Fl e B B A S S 2H5@12 0 T2 2= 064> 0.610 30 F KR S LA

18.3.45 ~ R jE2 R Z_

d
s=12cm < S, = Mmin {Z' 15,6db} = 13.2cm
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18.5.5.2 a8 B H 2 42

% P OB i3

-l

ET9h B Sh

3 %401-110

3 *401-112

//

ﬁ*xﬂllnf ’ “%RP{‘\;W‘X R
18455 K wam sSEl A 245 i* p d =
18538 % 4% 55 Bl R 2 P P o
¥ o] ¥ e
xR L

h}\_ "l‘?
N

& %
R 4 5%
EE s 3 2.5d, 0 w85 Eo)

_FK{E_ i_—__;]l 15 db °

%4 %20.2.1.68 0% 25.4.4.18 % 2 JFEE
a0 HXP W BERLES S S

(18.5.5.1) ~ 8d, 7 15cm 2. = & » ¥ & 45 4k
B85 L $ 184528 % 184545 F »
R R ER IR R R
G SRR Z R Pie ) o PSP
BB L 3FRE M3 2.5d, 0 1Ak S B R

i M1 1.5d, -

(g =0.06F,d,/(A/F)  (18.55.1)
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18.5.5.2 {1 37

RV A S AR R s Bp chip i F %A~ 7 [ Leex? Yu (2009) ~ Kang
% % (2012) ~ Shao % + (2016) Chluifﬁ A (2016) ~ &2 Ouéﬁ A (2017) Lee&? Chang
(2017) ~ Ghimire % % (2021) ~ Chiuz 4 (2022) ~ +k 822 % 2 a’:(2022)] S
RBRI 2L S UGS T AR S 7]&,3‘*?{4}\ ”‘fv}j_jrq.\z;l poHZ PN ERR
;dt? e 74(18.5.5.1)2 €&y, mTR/EJ?é%ETF RISy TERPACTREER
ik%ﬂ@fio

W4 A7 Y dp 1(Shao s 4 2016 ~ Oux 4 2017) » Fhepdm 5 W B £ & ¥ Sg4h 55 ¢ o
BEZ 3 < @ 5l o AE R E LN ER R R ARIBSD2R T FEER I
Flicte A K > % FHcik %% p ShaoE 4 (2016) 2. iF 3% o

# R18.5.5.2 # 5 4% & FF pEig 1 7] k(U]

BEED o+ Flik 1 0.75
Mgy 857 e E 4 303d,18dy2 B » FEER I Fldcv 2 2 PPN 3E2 B -
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25435 FH L PEEEHYBEERE R 2

3 *401-110

3 *401-112

F % T A@) (D)~ (C)(d)iE 2 o PlE*4aam st W B £ R (T8 5254368 2 R
LGhE o

(@) 4m 55 = D36 -5 W E & B #7ig * 2 f/ 8 7 42318350 kgf/cm? [35 MPa] ;
(b) 4% 55 = BD32 3+ 5 W B & R #7i¢ * 2 f &7 421H420 kgf/cm? [42 MPa] ;
(C) 4w 52 % BD29> -8 W B E B g * 2 f/ & 7 4238490 kgf/cm? [49 MPa] ;

(d) 4% 55 = BD25 ™ » 225 W E R Barig * 2 f/ @ # 428700 kgf/cm? [70 MPa]
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PEBRHELHVELERTAE

3 %401-110

3 *401-112

WEERBRIGBE %2543 752w > ¥ ¥ ik
$25.4385 F 1L ¢ 2 50 FlHT 14 o

1 ldhl " 2k "’/\8db.€\‘ 15¢cm -
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25.4.3.7 7 £

PEESOHYVELREAE

3 %401-110

3 *401-112

FITRN

LRES a2V E LR G

0.075f,

- - db
Je

;i

()aw 52 % # 3 5 AP 8% Mk %

BT FE, =12 B F ANERF (4B

ﬁ"“"':) Y =10-

(2)4m 3t RS P PF o 38 (25.43.7) 1

s B3R L3R .

~ ==
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Bk LR D363z -] 4k 5% > Hiplo A (L2 49T 5 )6.5cm > ¥ F90°%4 47 B M .
B2 Rk S5cm e
(1) %90° ’M@ D36 ] 4 85 0 H 2300 B £ B Ly, 5 FEE<3dbz i—-@,—}rﬂ:
558 S AT RS *ﬁ?&ara«rw £ B G e <3db2 T 7 i 85 2 v 5
AR
i sh 8ot 85 (2) £ 180 ’;%@J?‘ D36 #i| 4 55 » B 2300 B E B0y 5 FFIE<3d,2 -8
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r F(l)\(Z)T%/RE' Oy s S EAE 0 T R - BRI S
&b R 2 7 & At2d, o
GSFEZ R ERELITLFRE
(1)éw 524y 2 & 0 B S8 w & RELF
AR
(2 #

25.4.3.4

0.8 &z
25% i

¥4 55 JE %

1.0

ZTEZ2ZA

e * 2 As
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21 ¥ $(25.4.3.1)

Flic s £ 25.4.3.8 1% & 5
A 5y,=1.0 3+ B

% ¥ 2 (25.4.35)8 HATE 2

-Tr
© ARG R L P Rm O EER >
S.

i
) ML
BR(0.7) 35 o & F24 T 55 1378 % (25.4.3.1) > ]

4 +401-112 ’?ﬁ'ﬂﬁh S0 EER
i on
a8 | Rkl
f, fo #3 #4 #5 #6 #7 #8 #9 #10 [ #u1
kgfiem? | kgfilem? | D10 D13 D16 D19 D22 D25 D29 D32 D36 B (0-075fyl//e) g

210 15 15 17 20 23 26 30 33 37 RN F
245 15 15 15 18 21 24 27 31 34
280 15 15 15 17 20 23 26 29 2 | =y ow

2800 | 350 15 15 15 16 18 21 23 26 29 i 3% (254.3.5)
420 15 15 15 16 18 21 23 26 41
40 | 15 | 15 | 15 16 18 | 2 | 23 | 32 | 38 |, =| V¥V g
560 15 15 15 16 18 21 26 30 35 2344/ f;
210 15 20 25 30 34 39 44 49 55
245 15 18 23 27 32 36 41 46 51 T8 £(25.4.3.1)
280 15 17 21 26 30 34 38 43 48

4200 | 350 15 15 19 23 27 30 34 38 43
420 15 15 18 21 24 28 31 35 61
490 15 15 16 20 23 26 29 48 56
560 15 15 15 18 21 24 38 45 53
280 15 20 25 30 35 40 46 51 57
350 15 18 23 27 32 36 41 46 51

5000 | 420 15 17 21 25 29 33 37 42 72
490 15 16 19 23 27 31 35 57 67
560 15 15 18 22 25 29 45 54 63
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3:4‘%

& ¥ 2 (25.4.3.5)

O PRI R R R 2 s Y B R R > 13 ¢ Fl#Hc £ 25.4.3.81%3%
B & & (0.7) 3+ %
3 A401-112 $44adw 55 0 B £ B
L SR AAA

E P ¥
fy fc' #3 #4 #5 #6 #7 #8 #9 #10 #11
kgf/cm2 | kgf/cm2 D10 D13 D16 D19 D22 D25 D29 D32 D36
210 15 15 17 20 23 26 30 33 37
245 15 15 15 18 21 24 27 31 34
280 15 15 15 17 20 23 26 29 32
2800 350 15 15 15 16 18 21 23 26 29
420 15 15 15 16 18 21 23 26 29
490 15 15 15 16 18 21 23 26 29
560 15 15 15 16 18 21 23 26 29
210 15 20 25 30 34 39 44 49 55
245 15 18 23 27 32 36 41 46 51
280 15 17 21 26 30 34 38 43 48
4200 350 15 15 19 23 27 30 34 38 43
420 15 15 18 21 24 28 31 35 43
490 15 15 16 20 23 26 29 35 43
560 15 15 15 18 21 24 29 35 43
280 15 20 25 30 35 40 46 51 57
350 15 18 23 27 32 36 41 46 51
5000 420 15 17 21 25 29 33 37 42 51
490 15 16 19 23 27 31 35 42 51
560 15 15 18 22 25 29 35 42 51
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